Roots 4l

«polynomial ygia smia & f(X)=0 Lapdd) g8 A g Abd pall Al cils 1Y)
5393 CBlalaay dgaall dmia ciypd JMA (pe Il g Wygda ey MATLAB aladiu) gleayld

ek LaS aganll sala Cijay Cua () el Jlal) (5830
>>p=[1 -5 -1 2];
>>roots(p)
ans =
5.1190
-0.6874

0.5684
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f1(x1,x3) = x4 — 4xi — X1X2

f2(x1,%3) = 225 — x5 — 3x1%;,
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Ctrl+ 0
Ctrl+W

Open...

Close Command Window

Import Data...

Save Workspace As... Ctrl+5

Set Path...

Preferences..,

Page Setup...
Print... Ctrl+P
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" Editor - CA\Users\hudaifa\nle.m - -
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NEW|$RBIC|23 - Aasi|B-a

EE| -1 |+ |+ | x | EE O

1l function f=nle (x)

o - T(l)=x(1)—-4*x(1)"2-x(1)*x(2);

5 — F2)=23+x(2)-x(2) 243 %= (1) *=x(2);
4

el Gilal) 1(2) a8 Jsi

) L 1) 58X 4lseud (nonlinear equation) nle auly Cildl) )i Bia a3 A

LBaY daladil)

O fsolve dlay 3835 1) say o jalgl) 538U JMA (e a1 A oy pariall Adg) Lad e
ol LS g B3N i

>> x=[1 1J;
>> fsolve('nle',x)

ans =

0.2500 0.0000
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NE@E| «$aR9 ¢S -danf| k- -88
HE| -0 |+ |11 |x ||

1= x=[55 61 82 79 75 &3 97 58 101 o64]-
2= sx=0; sxx=0;

2~ |Hfor i1i=1:10;

shl= sx=sxtx (1) ;

&= sxx=sxx+x (1) "2;

6 — end;

7 = av=sx/10;

sil= sd=( (sxx-sx~2/10)/9)~0.5;

g — disp('the mean is: ')
10 — disp(av)
alill= disp('the standard dewviation is: ')
1leali= disp(sd)
13
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" Editor - Untitled2*

BLE | - (10 + | + 11
il x=[55 61 82 79
2 sx=0;sxx=0;
| 32 o a=1:10:;
4 sx=gx+x (i) ;
5 SEXX=sxX+x (1
6 end;
7 av=sx/10;
= sd={( (sxx—-sx"2/1
9 disp ('the mean
10 disp (av)
11 disp('the stand
12 disp (=d)
13

File Edit Text Go Cell Tools | Debug | Desktop Window Help
DNodH $RaR9o 0o gdv Open Files when Debugging

Save File and Run

Run Configuration for Untitled2

Clear Breakpoints in All Files
Stop if Errors/\Warnings...
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F10

F11
Shift+F11
F5

F12

Shift+F5
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>> examplemean

the mean is:

73.5000



the standard deviation is:

16.1675
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>> exmeanl]

the mean is:

86.8000

the standard deviation is:

11.4978

No. of persons with weight >=635 is:

5
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File Edit Tet Go Cel Tools Debug Desktop Window Help
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i = x=[55 61 B2 79 75 63 97 58 101 64]:
2= sx=0;s=xx=0;
3= k=0;
@] [Flfor i=1:10;
gi|= if x{i)>=65;
& — sx=sx+x (i) ;
‘: 7l i sxE=sxx+x(i) ~2;
= k=k+1;
2= end;
‘ 10 — -end;
11 — av=sx/k;
1l (= sd=((sEx-sx"2/k)/(k-1))"0.5;
13 — disp('the mean is: ')
14 — disp (awv)
15 — disp('the standard deviation is: ')
16 — disp (sd)
17 — disp('No. of persons with weight >=¢5 is: ')
1l = disp (k)
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x=[55 61 82 79 75 63 97 58 101 64];
sx1=0;sxx1=0;
sx2=0; sxx2=0;
k1=0;
k2=0;
for 1=1:10;
if x(i)>=65;
sxl=sxl+x(1i);
sxxl=sxxl+x (1) "2;
kl=k1l+1;
else
sx2=8x2+x (1) ;
SXX2=s5xx2+x (1) "2;
k2=k2+1;
end;
end;
avl=sxl/kl;
sdl=((sxxl-sx1"2/k1)/(k1-1))"0.5;
disp('the mean OF GROUP1l is: ')
disp(avl)
disp('the standard deviation OF GROUP1l is: ')
disp (sdl)

disp('No. of persons with weight >=65 OF GROUP1l is:

disp (k1)

av2=sx2/k2;

sd2=((sxx2-sx2"2/k2)/ (k2-1))"0.5;
disp('the mean OF GROUPZ is: ')

disp(av2?)

disp('the standard deviation OF GROUPZ is: ')
disp(sd2)

disp('No. of persons with weight <65 OF GROUPZ 1is:

disp (k2)
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the mean OF GROUP1 is:

86.8000

Al



the standard deviation OF GROUP] is:
11.4978
No. of persons with weight >=65 OF GROUP] is:
5
the mean OF GROUP2 is:
60.2000
the standard deviation OF GROUP?2 is:
3.7014
No. of persons with weight <65 OF GROUP2 is:
5
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x=[55 61 82 79 75 63 97 58 101 64];
k1=0;k2=0;k3=0;
for i=1:10;

if =% (1)>80;

kl=k1l+1;



elseif (x(i)>=60) & (x(i)<=80);

k2=k2+1;
else
k3=k3+1;
end;
end;
disp(*No. of persons with weight >80 OF GROUP1l is: V)
disp (k1)
disp(‘No. of persons with weights ranged between 60-80 OF GROUP2
L8is V)
disp (k2)
disp('No. of persons with weight <60 OF GROUP3 is: ')
disp (k3)
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No. of persons with weight >80 OF GROUP1 is:

No. of persons with weights ranged between 60-80 OF GROUP2 is:
5

No. of persons with weight <6() OF GROUP3 is:
2

A Lol adiic () 5 X a8 Ao dae Jaad for...end dley Ueadiad qlad) JUall B
sl iah o) ) Jeally Aleal) o3 jaies .while...end Ay alidiuly sl 138 Jad
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=[55 61 82 79 75 63 97 58 101 64];
k1=0;k2=0;%k3=0;



i=1;
while i<=10
1f x{(i)>80;
kl=k1+1;
elseif (x(i)>=60) & (x(1)<=80);
k2=k2+1;
else
k3=k3+1;
end;
i=i+1l;
end;
disp('No. of persons with weight >80 OF GROUP1 is: ')
disp (k1)
disp('No. of persons with weights ranged between 60-80 OF GROUP2
v5s ¥
disp (k2)
disp('No. of persons with weight <60 OF GROUP3 is: ')
disp (k3)

sl A Las Adl) Aot 0 9<
>> exmean]
No. of persons with weight >80 OF GROUP] is:
3
No. of persons with weights ranged between 60-80 OF GROUP2 is:
5
No. of persons with weight <60 OF GROUP3 is:

2



